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M.Com. (Semester-1) Examination, December 2021

COSTANALYSISAND CONTROL
Paper -1V
(Cost Analysis and Control)

Time Allowed : 3 hours Maximum Marks
Regular/Private : 40/50

e : T Wl % faw quis so sik g, @ve ‘#1'- 5,
QU '9'-15 Td @UE ‘F'-30 3ehl I EAT|

T : G §¥7 &7 HIT ) T4 @S F GIEA 3F RT T &)

Note :  All questions are compulsory. Mark.description is given

with each group.

@ug-A / Section-A

(TS U9 )

(Objective Type Questions) Sx1=5§

1. WEl fa%eq &1 994 HifT
Choose the correct option :
(i) Tt ot 9o amra o wnfie @ -
(31) yeae gt (9) 9oy 99
(9) a4 =14 (%) IqUe |t
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(11)

(iii)

The prime cost of a product includes -
(a) Direct Matenial

(b) Direct Labour

(¢) Direct Expenses

(d) Allofthe above

e wrTe Fyateo Afq o wgE fare R -
(1) gHaEtY

(9) vdagm TE fFEAw

(¥) arTa s

(7) THIAFE T

The main characteristics of the process
costing method is -

(a) Time Period

(b) Supervision and control

(c) Costing Procedure

(d) None of these

Hiq ARG ST T H © -

(31) T Ar

(9) $AArd

(F) ANTa-HT= A §aY

(T) ALY AR

Marginal costing clearly indicates -

(a) Fixed Cost

(b) Total Cost

(¢) Cost-Volume Profit Relationship
(d) Absorption Cost ‘
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(iv) @szdt frfam o frosm s 2 -

(31) 3afy (a) ZH13
(1) favm (z) faFt

Controlling unit under budgetory control is -

(a) . Period (b) Unit

(¢) Department (d) Sales
(v) 9HM e -

() ofqeifos () zv=df

(®) vd frwifea

Standard cost is -

(a) Historical (b) Ideal

(z) wHmE 8 wET

(c) Pre-determined (d) None of the above

©@ue-9 / Section-B
(g I|T UeT)
(Short Answer Type Questions)

ST AT & Tl bl T |

Discuss the elements of cost of production.
AYAr/OR

3uftera it uftsma S |

Define overheads.

TYH T IS T ?
What are joint and by-product?
HYAT/OR
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afearer e ) gfoma At

Detine operating cost.

Hrwiq @ gt F e
What is Marginal cost?

arerar/OR
w-ﬁ—n@zﬁgwwu{a%?

~ - 1 ?
What is the importance of Break-even-point

Fe1eT F I G §?

What are the limitations of Budgeting?
3rgar/OR

ST 373H&0] 1 STEHRON &l FHART |

Explain the concept of Cost Audit.

THTY ST SR S @ # SR FarET
Distinguish between standard cost and

estimated cost.
3rgdar/OR

o7 FHeTeTd] fara ol F# 1 8 2

What is Labour Efficiency-Varience?
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@aug-dA / Section-C
( &rd 3= vy )

(Long Answer Type Questions)

gh! A1 ST 87 AT A F g A wh
Ui i |

What do you understand by cost accounts.
Why the producer needs them? Describe the
profits of cost accounts.

AYaT/OR

T& HREMA & T faum § 4000 a4l fAfdq
i TS U1 $% AP Jed &% 20 Gfderd o |
ST T4 | 19 SH TFR H a5 H 6000 THEET
o 1 e Tt i, af =53 #ht T erafafaa

Tt & SiR @y i1 9t wfaed = s &2
4000 TSI F =1 T @l e THER S -
bl 20000
i 24000
PRGN 49 :
fer 10000
e 4000
R Td fashg =g
femt 3000
ALY 1000
AY-TTd W 20 Sfaer
Fea e 74400
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b
actory 4000 units were

faf
"o 0% on cost

In a departm¢

dsold ata profit ol

you quote for the
. type of

pmduccd an
price. What price
supply of 6000 un
product. if the rate
unchanged and the same pe
is desired?
The record
follows R

W/j”’? 20000 |

i Labour 240000

i Factory Expenses

. Fixed

i Variable
Administrative and
Selling Expenses :

Fixed

Variable
Profit - 20% on cost

would
its of the game
of expenses remams

reentage of profit

of expenses for 4000 units is as

10000
4000

3000
1000

74400

( . - _
4 4 ¥

rrrerert 1000 ann o0 }
- 1200 700 850
Frifrarm 1300 500 10
fazn b (ol 21000 10000 2000
fagnmr s so% 0% 1l

: ) i B )

A W Fr w1 AzAm GEwa gwe w50 7=
At 3mmat % e oft

The production of product “A" yields by-
product ‘B” and “C". The joint expenses of the
manufacture are : Material - 5000, Labour-
4000, Overheads - 4500, Separate expenses
are as under :

Selling Price

a@‘a'%mﬁﬁmﬁ‘a'am‘a’m
< BT S | S ¥ T ol T R E -
TrEf-5000, F9-4000, IIREA-4500 JHH-
gerE; =7 feifaa € -

212057

A B C

% z 3
Material 1000 800 900
Labour 1200 700 350
Overheads 1300 500 750
Selling price 21000 10000 5000/

o

Pro i 1 50%  50% ‘
fiton selling price  50%  50°% 33 5 o)

\

Show how would you apportion the joint
expenses of the manufacture? Also prepare
account of these three products.

RAFT/OR
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SFeR-gfeF T 2 T TR & F R
AR 127 st?What are the
What is inter-process proht.W a

isc t?
objectives and disadvantages of this concep

Frfofas gre @ oy oAt @ Heiftd
3

T ANTd 160000/~
qfad=eie Ard fershd =1 60%
O HIFAY -

(1) T |EA AT

(2) Tufa=cfayg

(3) 20000 % o7 o afia F o for fersht
(4) 440000 FF SFFAITTA fersht T AT

(5) 800000 7 1 farshl TR &M H1 HIH
The following Data is related to a small
manufacturing Company : ‘
Fixed Cost

Variable Cost

Calculate :

(1) P/VRatio

(2) B.EP. |
(3) Sales required to earn a profit of

< 20000
(4) Profit at an estimated sales of ¥440000

(5) Margin of safey when sales are 800000
AFgar/OR
212057

160000
60% of Sales

10.

9
ushEy erra fafy at afrarm Ao qar s
3Igev Al &1 #vf Fifor |

Define Uniform Costing and discuss its

objectives.

Tk R H 10000 3HEA % 3129 F fom

=9 F51e 19 gy feu mu § -
gfagfrz T

arit 70

a9 25

YRad=eier 3ufterg 20
Tt 39fag 100000 10
Wﬁa?ﬁ?ﬁam 5
fashl o9 10 wferera feer 13
foao =19 20 i feer 7

JET =9 50000 5
(i) 8000 $HEA TH (ii) 6000 THEAT F fou
ST & T3 TR FIfT |

& WM A R gt = g ) w fer
Gl

The expenses budget for production of | 0000
units in a factory are given below :

212057 P.T.O.



11.

10 .
Per Unit

4

70
Material ok
Labour 20
Variable overheads 0
Fixed overheads 100000 ¥
Variable Expenses o

Selling Expenses 10% fixed o
Distribution Expenses 20% Fixe :
Administrative Expenses 50000

Prepare a budget for the production of (1)

i t
8000 units and (ii) 6000 umfs..Assumlelthal
administrative expenses are rigid for all leve

of production.
areral/OR -

ST SFpRTT S F A €7 A 31%&101 |
S-FR S I F g e € qe e Al
FANE?

What is meant by cost audit? What are th.e
objectives sought to be served by cost.audlt
and what are the advantages of cost audit?

ERIRCASIYE 75/-

ST A 15 ..

e AT 80/-

CUSIEE R Gl 20/-
212057

RIMEI aﬂhﬂ'f :
(1) wH e faerm

Standard Cost 75/-
Standard Quantity 15 Kg.
Actual Cost 80/-
Actual Price 20/-
Calculate :

(1) Material Price Variance
(2) Material Usage Variance

AF4a1r/0OR
9 ArTd fafy 9§ = e 27 gmm e fafa
1 g foRrvand s w wert yors = fafy
1 TEvIE IS T FHifsw |
What is meant by standard costing? Discuss
the characteristics of standard costing and
meantion the essential conditions of an
effective system of standard costing.

A £ 2
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